SUNSHINE MATH


 Name:_____________________________

Earth,  II
   



           
  (This shows my own thinking.)
HH
1.  How many squares are in this picture?
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Answer: _____ squares

HH
2.  How many different ways can you add two numbers from 1 through 9 to make 10?  (1 + 9 and 9 + 1 count as two ways to make 10.)
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My List:






__________   __________






__________   __________






__________   __________






__________   __________






__________   __________










Answer: _____ ways

HHH
3.  You have 2 nickels and 3 pennies.  You want to trade them for a quarter.  How much more money do you need before you can trade fairly?











Answer: _____ ¢

H
4.  On the Line below, draw the shape that comes next in the pattern.



n u u ( ( ( n u u ( ( ( n u u ( ( ( n u____

HHH
5.  Do these problems on your calculator.  Write your answer in the box:




a.
27 + 54 + 75 + 403 =  EQ \x(        ) 



b.
385 - 76 + 541 =  EQ \x(        ) 



c.
372





  54




    +  846







HHHH 6.  Color this map using    only 4 colors.  No state can be the same color as one that touches it.


[image: image3.wmf]Hint: You can use 

this code instead of 

real colors, if you 

want to:

R=red  G=green

B=blue Y=yellow
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Commentary

Earth, II
1.  (5)  There are four small squares and one large square.  Students may enjoy doing other problems of this nature in which they find figures within other figures.  For example, how many triangles are in this figure?  (3)
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2.  (9)  9 + 1; 8 + 2; 7 + 3; 6 + 4; 5 + 5; 4 + 6; 3 + 7; 2 + 8; 1 + 9.

3.  (12¢) Two nickels and 3 pennies is 13¢, and the difference between 13¢ and a quarter is 12¢.  Some students may have trouble with this problem if they don't know the value of the coins.

4.  (u)  The pattern which repeats is n u u ( ( (.  The fourth repetition of this pattern has started, and the first two figures are shown, leading to the third in the sequence as the one to follow.

5.  (a. 559; b. 850; c. 1,272)  Give a star for a, b, and c separately.  

6.  (One possible answer is shown; there are other possible answers.)  Students may enjoy knowing that this is related to one of the “50 famous unsolved problems in mathematics”of the 80's. The problem was that everyone thought that such a map could be colored in four colors or less, so that no two boundaries the same color touched except at a point, but no one could prove it.  Eventually the problem was solved, but for years and years, mathematicians enjoyed coloring maps like this, looking for an exception to the conjecture.
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